 mAENE

PARTS LIST

ROS520AB

otex



RHLNo

I I e I I I I I B B R Al el o I R il

Fr—Ry I XEFREDI)
FY—Ry I RERED2)1/2
Fry—Ry I XE&R(ED2)2/2
Fr—Ry I RERFED3I)
Fry—Ry I XE&R(EDS)1/2
XY —Ry I RE&R(EDS)2/2
Fr—Ry I XEFR(EDS5)

X —Ry Y REF&R(ED6)
Fr—Ry I REREDT)

X —Ry I XEFR(EDS)
Fr—Ry I REFREDI)
JL—LE&
ETEEBRR(ZD1)
ETEEBRED2)
ETEERR(ZD3I)
ETEEBRR (DY)
ETEERBR(ZD5)

ETEERRE(ZFM6) 4-754%vI OPT
FETEEBZR(FDT) 5-784%70 OPT

IVOURARED)IVY
IR (ZED2) 20305091
IR (ZDI) 20304092
IVOUER(ZEDA) IV IR MY
IVOUBRREDS) T VI
IR (ZEDE)TUYI2
IVOUEREDT)TUYI3
IR (EDS)TUNY
RERR (FD1)HSTA YL
RERR (FD2)HSTLN -
ZREBR (FDI)HSTI=7' I
RERR (FD4) 738
RERER (FD5)F99E =1y
IRERRR (ZD6) ATTVY
BERR (FDT) ABYMLLN -
RERR (FD8) YK yIR
BEER(FDY)Fvy Lin—
VERSR (FD10) L —T 7094
NERZEERR R (ZD1) T UM
NEYZEE R R (ZD2) T U2
NEZEERR &R (ZD3) 7%
MERZE BB &R (ZD4)Hn'—1(1/2)
MERLEE B &R (ZD4) hn'—1(2/2)
M ERZE & B & (£ dD5) Hn'—2(0OPT)
NEZEE R R (F D7) ¥a)ay)F1
N B2 E R R (Z D8) Y3y )F2
NERZEE R &R (2 D9) 479Fbn'—

b
%
v
%

B e e T T S S e ST GRS
© ® U > DEPDN o ©ON o N =

H A, D D DD D OOWWWWWWWWWNDNDNDNDNDDNDDNDDNDDNDDNDN
D Ol A WON —= O ©W 00 JdJOo g~ WN - O o oo dOo O b~ w NN —+ 0o



B

RHLNo

© ©©©OOOOO®ENNNNNNO®

_— )
—_ o —_ O

N EEEBEBFZRED10) 305 b —
N EREBERRFZRED1DNEYY 3D

=k AN—BB&R(ZFD1)ATYT
O—bAN—B&R (FD2) AN -IV—L
=k AN—BR(EFDI) IV VAN -
O—bk-HN—F8&R (FD4) -t -
O—k-AN—E&R(FD5) VM
o—b-HN—E8&R (FD6) y—12
SNILBER(ZED1)1/2
SARIVER(ZD1)2/2

ATa vt ybBEFREDT) F42(V)SET

FT7 avtyhBE&RED2) T4I27-

FToavtyBEREDS NUIR YA

FT avtyrBEREDS) Yrihn -

AT avtyBEREDSE) Yri4hn'—(N)

T3 wybB&REDT) 7I-+-4
REPBER(ZD1) 7'L—%Va-
REPEA{R(Z®M2) +47SET

15 mBE &
H—ERER(FDNELEFEE SR
Y—EXREF(ZD2)RATV-EH
H—EXEF(ZNDI)EHREK

QFLEM/I—KRIZDINT

Hama—FT2H(O000-000-000-00: O00) [FEEBI—FERLTLET,

1):28—E @45

2) 1147399357 9%

3) :55———Y abyk

4) : 32— EERL 7799



1. ¥V —ARy I RBER(EDT)

75 HHmI—Fk e Bk & & /N B
1 0677-110-210-1 39Y3U(957)ASSY 1

2 0674-111-221-0 F—=AL) 1

3 0674-111-222-0 r—A(R) 1

4 0455-130-041-0 19947 2

5 0674-111-223-0 7599 K W IM8X45-TT 2

6 0674-111-224-0 750 K VFM8XT70-7T 10

7 0664-411-012-0 770 FyMM8) M8 10 7T
8 0339-181-212-0 770V K IWAM6X12-10.9 1

9 0460-202-003-0 Y=-ITY9%(6) 1

10 3614-101-005-0 T4YIXT7Y 1

11 1155-220-015-0 ¥191%+97°(20) 1

12 0674-111-225-0 HWhy7° 1

13 0674-111-452-0 N 2RHr(LN =) 1

14 0343-625-012-0 A7°)4 (HE085) 1

SFHEE, (FDNFE2~ (EDNEST,



1. £V =Ry RERED2)1/2

"qE H&mad—Fk EBEm B B %k i /NFE B
1 0674-111-251-0 HST=1%9Y3%v") 1
2 0674-111-252-0 ¥ (m2-19-38) 1
3 0674-111-253-0 Z-FAATYVY202417 NTN K20X24X17S 1
4 0674-111-254-0 #1"%(20X30X3) 1
5 V704-140-020-0 CHabIC ™)) 20 1
6 0674-111-255-0 ANAF344(2.5/20R) 1
7 0674-111-256-0 Hh7—(20X25X54) 1
8 0674-111-011-0 R.B.B(6004) 6004 1
9 0674-111-013-0 R.B.B(6203) 6203 1
10 0674-111-271-0 77-AMY 1
11 0674-111-272-0 F1oy % ¥(m2-21-16) 1
12 0674-111-011-0 R.B.B(6004) 6004 1
13 1122-280-013-0 R.B.B(6202) 6202 1
14 0674-111-291-0 L VI 1
15 0674-111-292-0 H7—(20X25X15) 1
16 0674-111-293-0 +'¥(m2-25) 1
17 0674-111-294-0 *'¥(m2-16) 1
18 0674-111-295-0 Hh7—(20X25X21) 1
19 0674-111-296-0 £'¥(m2-30) 1
20 0674-111-297-0 h7—(20X25X43) 1



1. FY—Ry I RER(ED2)2/2

75 EHma—Fk BB & % 5 &% i /NFEEE i
21 0674-111-013-0 R.B.B(6203) 6203 2
22 V744-117-350-7 FAvo—l TC17357 1
23 0674-111-311-0 H—rv'h 1
24 0674-111-312-0 h5—(25X32X10) 1
25 0674-111-313-0 £ v(m2-46) 1
26 0674-111-314-0 $¥(m2.5-15) 1
27 0674-111-315-0 Hh5—(25X32X31) 1
28 1122-280-021-0 R.B.B(6204) 2



1. ¥V —Ry I ZABR(ED3I)

20

s H&mad—Fk i TE<E a0 B %k 5 = /NSE B {ifh
1 0674-111-331-0 T2 1
2 0423-101-015-0 TINNLIYA 2
3 0674-111-332-0 FINAIL(16) 2
4 0423-101-018-2 Sl 2
5 0423-101-017-0 T =AU N 2
6 0674-111-333-0 I =AUV Y 1
7 0674-111-334-0 PAVE 1
8 0674-111-335-0 Ay4770Y K IWkM8X60-7T 4
9 0455-110-051-0 PIN/10X18 1
10 V580-140-502-5 ATUUIE W) 5X25 1
11 0674-111-360-0 :28 K447 (L)COMP 1
12 0674-111-351-0 RN PTIL 1
13 0674-111-015-0 R.B.B(6005DDU) 6005DDU 2
14 0674-111-016-0 R.B.B(6205) 6205 2
15 V744-125-470-8 -l TC25478 2
16 0337-330-013-0 R UY—I(25X47) 2
17 0339-181-405-0 Ay973% K ILMM10X25 8
18 V705-140-047-0 Ch 4rA9(7T) 47 4
19 0674-111-390-0 :28 &4 In'{17(R)ICOMP 1
20 0674-111-381-0 FMWYIFR 1
21 0674-111-382-0 H79F 1



1. FY—Ry Y RBER(EDA)1/2

s EB&ma—FK K] B %k i /NSE B {ifh
1 0674-111-231-0 kL IEY] 1
2 0674-111-011-0 R.B.B(6004) 6004 1
3 0674-111-232-0 ANA7I44(2.5/20L) 1
4 V704-140-020-0 CH a9 ) 20 1
5 V600-150-600-4 RB.B 6004DDU 1
6 V705-140-042-0 Ch abA(TT) 42 1
7 V744-120-420-8 A=l TC20428 1
8 0674-111-420-0 F10¥Y75—COMP 1
9 V680-200-001-0 AF-IiR = 5/16 1
10 0439-110-021-1 YIRRT YUY 1
11 V203-261-001-6 DGR WRGREYF) M10X1.25X16 1
12 0455-753-012-0 MLy 1
13 V580-140-502-5 A7 E (W) 5X25 1
14 V580-140-302-5 A7VUTEUW) 3X25 1
15 0674-111-430-0 F10¥"7'L—FCOMP 1
16 V744-115-250-7 A=l TC15257 1
17 0674-111-411-0 #7°2(15X30X2) 1
18 V704-140-015-0 CH 49 ) 15 1
19 0674-111-451-0 Y745-(7'709%) 1
20 0674-111-460-0 SCLN'—COMP 1



1. FVY—Ry D XBER(ED4)2/2

75 EHma—Fk BB & % T Bk g % /NFE B
21 V744-114-250-7 FAvo—l TC14257 1

22 0664-411-012-0 779V FyMM8) M8 17T
23 0674-111-600-0 7'L—%(81)NASSY 1

24 V704-140-015-0 CHab A Y) 15 1

25 0677-110-011-0 YLUh (30X42X02) 0~2 MR
26 0674-111-482-0 7399 K WEMBX16-TT 4

27 V721-103-104-5 oyuy 1A,G45 2

28 0674-111-500-0 HST(HVFD10F /%) 1

29 0674-111-223-0 7359 K W M8X45-TT 2

30 0339-181-233-0 759 K IWrM8X115-6.8 2

31 0674-111-621-0 7 b—%Ya1— 2

32 0674-111-622-0 ey GAIVYN 1



1. FY—Ry I RBER(EDS)

fqE EHma—Fk BB a4 5 B 5 & /NFEEE i
1 0674-111-501-0 IR (12-G3/8) 1
2 0677-120-012-0 HST#—2(250) 1
3 0677-120-011-0 H—ANUN(HC1-8) 2
4 0677-120-200-1 HSTHy7°(280N)COMP 1
5 0451-115-011-1 HSTAA N Evy 7’ 1
6 V211-360-802-0 IN 4K IWMSP) M8X20 1
7 0674-111-520-0 : 28 77Y(N)COMP 1
8 8935-001-065-0 L)LY 94— 1
9 V421-160-006-0 NVELWIEIVIY; M6 1
10 0455-111-018-0 AyHE ILMM6EX12-9T) 1
11 0325-503-004-1 E'-haA 1



1. ¥ —Ry ) ABER(ZED6)

FE Ema—k EBEm B B %k lis INFEEA
1 0674-111-510-0 :28 HST7—L(79)COMP 1
2  4175-402-004-0 7)Y R Vb 1
3 0671-130-013-0 Juhk =IL(M8/L) 1
4 0671-130-014-0 uhk —I(M8) 1
5 0677-130-011-0 HSTOYk(957) 1
6 3900-540-016-0 IN 4 YMLMS8) 1
7 V304-260-008-0 In 48Uk 291 M8 1
8 V362-260-008-0 INYIN E2YEFYE 191 M8 2
9 0677-130-200-0 :28 HSTHY4(957)COMP 1
10 0357-402-011-0 799112X14X12 2
11 0611-440-011-0 DU7"va(12X14X20) 1
12 V411-260-012-0 I 12 2
13 V704-140-012-0 CH4r A9 ) 12 2
14 0677-130-210-0 : 28 HSTAYFIVFCOMP 1
15 0670-130-012-1:28 7Y %Ab7°L—b 1
16 V211-360-802-0 IN 4R IWMSP) M8X20 2
17 W200-260-603-5 i ANCLESY! M6X35 1
18 V300-260-006-0 Tk M6 1
19 V411-260-008-0 eI 8 2

SHBIDEXET, F510, 1HARBE,



1. F—Ry Y RBER(EDT)

qE Ema—Fk T EE D0 EE g & /NFEE i
1 0677-130-220-0 :28 HLA-57-LCOMP 1
2 0611-440-011-0 DU7"Y2(12X14X20) 1
3 V411-260-012-0 IES IS 12 1
4 V704-140-012-0 CH 4k A9 ) 12 1
5 V600-150-620-0 RB.B 6200DDU 1
6 3768-361-029-0 A-4% Y- A B % 2
7 V704-140-010-0 CH 4k A9 ) 10 1
8 8935-005-031-0 An'-SP 1
SEB1MEXE(X., FE28RE,



1. F—Ry Y RBER(EDS)

2
A
Cs
#E  #@ea—F 03 T B % = NEEE
1 0471-116-011-0 UK IL56) 2
2 V300-260-010-0 TIk M10 8
3 V411-260-008-0 IS 8 2
4 V401-160-008-0 Sw 8 2
5 0450-110-011-0 AYHR IWIM8X25 2

-10-



1. v —Ry Y XBER(ZEDI)

7= Hma—k HmB Ik B = /N5E B
1 0677-140-200-0 :28 F1v¥ 7—Ah(957)COMP 1
2 V580-140-502-5 ATYUTEU(W) 5X25 1
3 3536-111-008-0 RN ANYD 2 1
4 0673-144-300-0 : 28 Hin'—(77)SRA800 COMP 1
5 0674-141-011-0 :28 77UhN—RF7—(25) 1
6 0339-181-391-0 7599 K ILAM8X16-6.8 2

-11-



2. 7L— L%

s H&mad—Fk iR K EE im & V5T B il
1 0677-210-200-6 :28 7L—LCOMP 1
2 0670-750-259-0 DU7"v2(22X25X15) 1
3 0357-402-011-0 7YY112X14X12 2
4 0733-530-243-0 ARV (05X20X160) 1
5 0677-210-011-1 Y 4°47°2(032X105) 1

PSS 10DEXEIL, fFFE2~50RE,

-12-



3. ETTEEMR(ZDI)

13

FE Ema—k EBEm B B %k lis INFEEA
1 0677-310-220-0 :28 7—L(7AYFK4L95/L)COMP 1

2 0677-310-230-0 :28 7—L(70UbikAIL95/R)COMP 1

3 0450-301-011-0 77997799120 6

4 0677-310-013-0 7°92(DBS2020) 2

5 V767-400-000-0 YR N A-M6F 2

6 V201-261-002-5 mp T A M10X25 2

7 V401-160-010-0 SW 10 2

8 V411-260-010-0 RIES WiFY 10 2

9 V362-260-010-0 INYIN 2YEFYE 1%1 M10 2

10 0677-310-300-0 :28 +94IL7—AL957(L)COMP 1

11 0677-310-400-0 :28 +94IL7—L957(R)ICOMP 1

12 0670-310-011-0 700 4%T° 4 2

13 V361-260-006-0 UL VESWI 291 M6 8

14 0670-310-012-0 AU =T 4 2

15 0670-310-013-0 :28 44¥A4LiN—FH1 2

16 V231-360-602-0 7399 R Ibb M6X20 4 7T
17 V361-260-006-0 BINFIEFVR 291 M6 4

18 0670-310-015-0 :28 &' U4¢y7°(10) 2

19 0339-315-012-0 FR ILMM10X1.25X20) 2 9T

SFFE1. 20 E XL, I3, 4L E,

-13-



3. ETTERERR(ZD2)

qE EHama—k BB Fh Bk B & /N5E Bl
1 0677-310-200-0 :28 70YF7HALA—A(N)COMP 1

2 0450-301-011-0 770¥°7120 2

3 0677-310-260-0 :28 7HAIA—AYTYCOMP 1

4 0339-181-391-0 779Y K ILMM8X16-6.8 2

5 0677-310-250-0 :28 Fv4L7—LYTUE YCOMP 2

6 0672-310-400-0 4N (110)ASSY 2

7 V201-360-804-5 iy T A M8X45 4 7T
8 0677-620-011-0 47709 Utyb M8 4

9 V231-361-002-0 779 Kbk M10X20 2 7T
10 V767-400-000-0 BYRZYT N A-M6F 3

SHS1DEXEIL, F52hRE,

-14-



3. ETEEMR(ZMDI)

e #E&3—k 0 & A 15 B & & /NS B A

1 0677-310-011-0 70k L(719) 1
2 0677-310-012-0 :28 7AYFI"AAHI(957) 1
3 3731-551-008-0 FY-191% 0% 2
4 V231-360-802-0 779 Kbk M8X20 5 7T
5 1122-725-012-0 UtyMM8) 5
6 V411-260-008-0 WA 8 1

-15-



3. ETEEMR(ZTMDA)

s Hmad—F BB Em B Bk s /NST (iR
1 0674-320-200-0 ' U UN(L)ASSY 3.50-7-4PR 1

2 0674-320-210-0 ' U UN(R)ASSY 3.50-7-4PR 1

3 0674-320-201-0 44¥N(3.50-7-4PR) 2

4 0675-321-231-0 HMIUN(7X3.00/DT)7+V+ 2

5 0675-321-232-0 HMIN(7X3.00/DT)7++ 2

6 0674-320-202-0 F1—-7'N(3.50-7) 2

7 V200-360-801-6 Kb M8X16 8 71T
8 V300-260-008-0 FYk M8 8

9 V401-160-008-0 SW 8 8

10 0675-321-011-0 # " 2(9X17X0.6) 16

11 0675-320-011-0 7509 K ILMM10X25) M10X25 8 IT
12 0440-032-012-0 :28 t"VYuhkq ik A 2

13 V600-150-630-4 RBB 6304DDU 2

14 0670-330-011-0 F'9Y VY H #(26X52) 2

15 V705-140-052-0 Ch ab (7T 52 2

16 V600-150-620-4 RBB 6204DDU 2

17 0330-203-003-0 :28 'Y Vh- 2

18 V411-260-016-0 HIES IR 16 4

19 V327-261-216-0 NVESVIEL)! VP 2IM16X15 2

20 V500-164-003-5 ey 4X35 2

21 0437-348-013-1 wEFYY7 2

SHE1E. FB3I~10Z2ET,
>HE20E. FBEI~10Z2ET,

-16-



3. ETTERER R (ZD5)

s Hmad—F BB Em A Bk s /NST B (iR
1 0674-340-200-0 I9YUN(L)ASSY 16X7.00-8-4PR 1

2 0674-340-210-0 19YUN(R)ASSY 16X7.00-8-4PR 1

3 0674-340-201-0 24¥N(16X7.00-8) 2

4 0674-340-202-0 F1—7'N(16X7.00-8) 2

5 0674-340-203-0 HMILN(8X5.50)7+9% 2

6 0674-340-204-0 HMIN(BX5.50)7+FY 2

7 V200-360-801-6 A M8X16 12 7T
8 V300-260-008-0 +9b M8 12

9 V401-160-008-0 SW 8 12
10 0675-321-011-0 #1°$(9X17X0.6) 24

11 0675-320-011-0 770Y" K WMM10X25) M10X25 8 7T
12 0674-350-011-0 :28 AL(J¥HAIL) 2

13 0337-120-012-1 E°»(10X69) 2

14 V411-260-010-0 I 10 2

15 V500-163-002-0 ey 3X20 2

>SEHE1X. F53~10251,
>HE2X. FE3I~1025T,

_‘]7_



VA
3. EFTREMZR(ZM6) 4-744¥vI OPT
— 1
e #&a—Fk B i 2 75 B3 fi& /NS B fifh
1 0677-300-200-0  4—744%(95)SET 1 OPT
2 0677-300-300-0 :28 +97IL7—L(4—7/L)COMP 1
3 0677-300-400-0 :28 +vJL7—L(4—7/R)ICOMP 1
4 0670-325-021-0  7OUMYTA(3-7) 2
5 V361-260-006-0  #7n\#Y¥FUh 291 M6 8
6 0670-310-015-0  &'7¥ U¥+vy7(10) 2
7 V401-160-010-0  SW 10 2
8 V203-461-002-0  Ih'4K MAKYA) M10X1.25X20 2 9T
9 0670-325-500-0  'Vv4-74{YASSY 2
10 V411-260-016-0  IN'¥4"h'% 16 4
11 0330-203-003-0 &)Y 'Vh7- 2
12 V327-261-216-0  IV"Y¥+YraDfyA 2IM16X1.5 2
13 V500-164-003-5 7Yt 4X35 2
14 0437-348-013-1  H{L¥¥Y7’ 2

>HEE1E. (FDOFE2~(ZFDNEED,

-18-



3.

ETEERR(ZEDT) 4-734%7)y0 OPT

G e A =11 = #R i B 7E B2 fi 1INSE B fif

1 0670-345-200-0 4-734YASSY 2 OPT

2 0670-345-211-0 44%(16X6.50-8) 2

3 0670-345-212-0 Fa-7 2

4 0670-345-221-0 4 ,(8X5.50SP/DCT)B 2

5 0670-345-222-0 H41(8X5.50SP/DCT)A 2

6 V200-260-801-6 Kb M8X16 12

7 V300-260-008-0 Fob M8 12

8 V401-160-008-0 SW 8 12

9 0677-300-011-0 :28 FI AZ¥1(954-7) 1

>HEE1E, FE2~8%5T,

-19-



4. TR GEDN)IVYY

7 8

9
Tl
Y
&
5
qE EHma—k EBEm B B %k & = /NFEEA
1 0674-411-200-0 1Y UFS600VASSY 1
2 0671-411-012-0 H ILM3/8-16UNC)32 4
3 V401-160-010-0 SW 10 4
4 8935-058-026-0 SPYTY I % 4
5 V120-354-001-2 7°FAFA IR (SP) M4X12 2
6 0677-410-011-0 :28 v75—AT—(Y1) 1
7 0339-181-391-0 7599 K IV AM8X16-6.8 2
8 V362-260-008-0 INEYINRYFFYE 11 M8 2
9 V231-360-802-0 7399 R b M8X20 2 7T
10 0677-410-200-0 NMEN 47 (20N)COMP 1

-20-



4.

TIOOVER(FD2) 20748091

75 EHma—Fk BB & % 5 &% g & /NFEEE i
1 0677-420-200-0 : 28 FUEL4Y%%4COMP 1
2 0677-420-013-0 TLT7Y(24) 2
3 V111-164-001-2 7°FAFAIRY M4X12 2
4 V360-260-004-0 $INZYEFYE 11 M4 2
5 0339-181-391-0 7557 K ILFM8X16-6.8 2
6 0670-422-200-0 #1)39409(12)ASSY 1
7 1729-111-280-2 *v97° (40477 —-D)ASSY 1
8 0670-422-011-0 24M5—(Fxy7") 1
9 1729-111-005-0 97 (72—1)) 1
10 0670-422-021-0 NMak—2A 1
11 0670-422-022-0 :28 2 Ya%avytHz 1
12 0453-420-018-0 T LAA—H(150) 1
13 0329-620-048-0 A7U9(HCO18) 2
14 3789-151-006-0 #yA7 4
15 0612-732-012-0 UtykMe6) 2
16 0612-630-011-0 JE'—+44(100) 2
17 2100-410-007-2 FIAD)T—LAMIN 3
18 0671-420-015-0 FVUELE V) e 1

SHSNDEXHIE, FS120RE,

-21-



4.

A L ENC I ORIE VIELE VYY)

FE Eama—Fk BB Fh Bk B & INSEEA
1 0677-420-012-0 #1)3%ik—A(230) 1

2 0677-420-014-0 #3'F1-7°(14X180) 1

3 0324-442-015-0 #1379k —A(6X630) 1

4 3615-311-003-0 F-ANVUNASSY(D=12) 4

5 0674-956-013-0 £3'F1—-7°(15X580) 1

6 0677-420-300-0 :28 Ak —FAT—COMP 1

7 0339-181-391-0 7799 K W M8X16-6.8 2

8 0677-420-250-1 :28 Y¥A{N\'YCOMP 1

9 0677-420-011-1 SRNNY()F) 1

10 V230-360-601-2 779 K Wb M6X12 6 7T

11 V362-260-008-0 INAYINRFYEFYE 171 M8 1

12 V411-260-008-0 HESI S 8 1

13 0672-410-230-0 #2139399ASSY 1 IVY VREEER &

-292—



4. TR (DY) IV N4

& e A= 13-k 0 i B FF [k iE = 1IN5E B fifh
1 0671-432-011-0  ¥'3{Uhk—2(270) 1
2 0771-620-019-0  Yt'—}44(90)

1
3 3536-142-006-1 D4Y-brhty 1

-23-



4,

T

RS

v

B{&R (ZD5) 70901

0

"E E&ma—F BB Em A Bk & & /NFEE
1 0453-455-011-2 NyTY34A(G) 34A19R 1
2 0670-440-011-0 :28 NyFAHI 1
3 0612-732-012-0 UtyhMe) 2
4 0670-440-012-0 T7—R!—F1(260) 1
5 0670-440-013-0 7°3RY—Ft(1450) 1
6 0674-441-011-0 7°3A1—Ft(470) 1
7 V210-360-601-6 i WMSP) M6X16 1
8 V401-160-006-0 SW 6 2
9 V300-260-006-0 FYk M6 2

-24-



4,

IV UVEGREDE) T2

-25-

75 Eama—k BB s EE g = /NSEEE i
1 0671-441-011-0 :28 ECOR{YFAT— 1

2 3913-523-012-0 BLAR ILIMEX12(R9H4Y) M6X12 2

3 0354-422-230-0 J3Y+A4YFCOMP 1

4 V111-153-002-0 7 IAFAIRY M3X20 2

5 V411-250-003-0 WA 3 2

6 3642-496-007-1 AMyFhA4 1

7 0677-440-400-0 N409k707°(G) 1

8 0677-440-500-0 N409b557°(R) 1

9 0677-440-210-0 F4FA{9FASSY 1

10 0672-410-210-0 £—24yF(K)ASSY 1 IVY VRIEER S
11 0675-440-300-0 5Y7°(LED/270)ASSY 1

12 0677-440-220-0 :28 34/FAF—COMP 1

13 V230-360-601-2 7599 KWk M6X12 3 7T

14 V211-360-801-6 IN 4K IWMSP) M8X16 2

15 0670-440-017-0 oY —-(E—771-) 3

16 0670-440-016-0 ESFybM14) 3

17 0675-440-014-1:28 7' L—%t H#M)Y4(980F) 1

18 V210-360-601-6 H IWMSP) M6X16 2

19 4175-936-025-0 LnN-%497° 1



4

N~
~

IO VBER(EDD TS

FE EHma—k EBEm B B %k B & /NFEEA
1 0677-440-200-1 MMYa-F(957)ASSY 1
2 0325-503-004-1 Je'-ra4 8
3 3536-142-006-1 D4¥-br0TS 14
4 0612-630-011-0 JE*=+44(100) 1
5 3918-514-001-0 JE*=}44(200) 3

-26-



4. TR EDS) T UMY
18
o— 17
@— 15
S
o—17
©—16
75 EHma—Fk BB a4 5 &% g % /NFEE i
1 0677-510-011-0 IvY'v7-1J(MOC) 1
2 V401-160-012-0 SW 12 1
3 0661-173-013-0 7Y% (12X40X03) 1
4 0670-510-012-0 VA'ILMB-32)W800 1
5 0674-516-200-0 :28 #7v47°—)(A)COMP 1
6 3782-131-014-0 A-4"9)07 1
7 V401-160-008-0 S.W 8 1
8 V201-460-802-0 T AN M8X20 1 9T
9 0677-510-210-0 :28 Y)a)TYYavy7—LCOMP 1
10 0677-510-012-0 ANTYIE =/ 1
11 0677-510-013-0 08 A 2
12 V411-260-014-0 IES WIS 14 1
13 V704-140-015-0 CH 4TI ™) 15 1
14 0670-511-011-2 :28 Tuav7—)(54/Yn") 1
15 V600-150-620-4 RB.B 6204DDU 1
16 V742-125-470-5 A=l V(25475 1
17 V705-140-047-0 CIarA9(7+) 47 2
18 V704-140-020-0 CH 4TI ) 20 1
19 0550-240-011-0 M37°5(47) 1
20 8935-042-034-0 N -h{A{SP 1
21 8935-005-026-0 VL SVIEV YIS 1
22 V362-260-008-0 AN EYIN RYEFYR 11 M8 2
23 0677-510-230-0 :28 A’ JLFAMYN'COMP 1
24 V211-360-801-6 N 4K IWMSP) M8X16 2

-27-



5. 1R (ZD1) HST/\“s«“Jb

7E H&mad—Fk T EE D Bk B & /NFEE
1 0677-610-200-0 :28 HSTA'4"JLIN)COMP 1

2  1646-640-055-2 NYNHST/R) 1

3 0675-610-013-0 H7—(HSTAT' L) 1

4 V201-460-805-5 i A M8X55 1 9T
5 0677-620-011-0 IN47709° Utk M8 1

6 8935-056-025-0 1J249(20) 2

7 V767-400-000-0 JTYAZYT W A-M6F 1

8 0677-610-220-0:28 A4 )L7°'L—MII)COMP 1

9 1646-640-054-2 NYN(HST/F) 1

10 V211-360-802-0 IN 4K IWMSP) M8X20 2

11 0677-610-300-0 : 28 HSTA4 LOYF(N)COMP 1

12 V411-260-010-0 I 10 4

13 V500-163-002-0 ey 3X20 1

14 V304-260-010-0 In 4 +ub 291 M10 2

15 0340-301-005-0 F'-rayySP 1

16 1106-620-011-0 7994 (10X25%4.5) 1

-28-



5. ZR1ERER (FMD2)HSTLN -

SRS 10DEXEIX, FFE20RE,

-29-

18

75 Eama—k R a2 Fh E % g = /NFEEE i
1 0677-610-500~1 :55 HSTLN'—A'—A(957)COMP 1

2 0455-621-011-0 7°Y1(14X16X15) 2

3 0674-956-220-0 799(HSTLA =)COMP 1

4 0674-956-011-0 A7 (HTO18) 1

5 V201-260-804-0 Ih 4R b M8X40 1

6 V411-260-008-0 ELWIEd 8 2

7 1122-725-012-0 UFyhm8) 1

8 0677-610-530-2 :28 7—L(HST)957COMP 1

9 0674-956-240-0 :28 Y TY(HSTLN'—)COMP 1

10 0674-956-250-0 : 28 LN —(HST)COMP 1

11 0432-502-011-0 439FVTIEY 1

12 V500-163-002-5 ey 3X25 1

13 0674-956-012-0 A7Y9 (HT026) 1

14 0674-956-015-0 FoY L —ZE(Y) 1

15 0631-730-240-0 7 L—%ASSY 1

16 V704-140-014-0 ChabA7(v™)) 14 1

17 V211-260-801-6 IN AR WMS) M8X16 3

18 8935-042-034-0 AN -h4A{SP 1



5. #21ER8ZR (FD3)HSTH-7'IL

"E Eama—k BB Em A B %k g /NFEEA
1 0674-956-280-0 =7 W =/7b—%) 1
2 V411-260-008-0 HIES IR 8 3
3 V500-163-001-5 ey 3X15 3
4 0674-956-290-0 5—=7" IWHST/F/953) 1
5 0674-956-300-0 57" IW(HST/R/953) 1
6 0674-956-013-0 #31F1—7°(15X580) 1
7 0612-630-011-0 JE*=44(100) 3
8 3536-142-006-1 D4¥-t Ty 4
9 0325-503-004-1 Je-haq 2
10 V411-260-006-0 IES S 6 2
11 8935-009-013-0 VLR PVVELIN S, 2
12 0677-610-014-0 :55 hN—(HST/H#4}) 1
13 0771-441-013-0 F5RI%Y(M6X14) 3

-30-



5. #21EBR(FND4) T VL-XAF)

f"E B ama—Fk BB R A Bk g /NST B i
1 0677-620-200-0 :28 7'L—%A"4"LCOMP 1
2 0451-611-011-1 N7 %= WA 1
3 3911-342-271-0 7°%2(12X14X15) 2
4 0451-612-024-0 S YRZY7 L(B-M6F) 1
5 0670-870-015-0 h7—(8X12X46) 1
6 V201-360-806-5 A4 ILb M8X65 17T
7 8935-056-025-0 1),4(20) 1
8 V401-160-008-0 SW 8 1
9 V303-260-008-0 InsFYk M8 1
10 0343-625-012-0 A7°)4 (HE085) 1
11 0672-621-011-0 h=7 T V—%)F 1
12 1337-401-006-0 MUH39FRTYIY 1
13 V411-260-008-0 DI 8 3
14 V500-163-001-5 ey 3X15 2
15 4210-260-012-0 IVNFv97°4(TH) 2
16 0677-620-250-0 :28 7' L—%4—7 )LAT—COMP 1
17 0339-181-391-0 779 K WEM8X16-6.8 1
18 0670-620-013-0 :28 P7'L—%Ln'— 1
19 3659-203-005-0 4)97°(03X17X74) 1
20 0770-510-013-0 A71)v9 (HEO50) 1
21 1122-725-012-0 UtyMMm8) 1

SFB1MEXEIL., fFFE3NBE,

-31-



5. #ERAR (£ M5) 7L =4y

7E E&ma—Fk BB Fh Bk g /NFEE
1 0677-630-200-0 7997 N EZFU(N)ASSY 1

2 0670-630-015-0 T LY #(15X45X3) 1

3 0339-181-391-0 770 K W PM8X16-6.8 6

4 0677-630-250-0 :28 A74MH'1F(957)COMP 1

5 0677-630-011-0 h7—(10X15X7) 1

6 V203-441-003-5 Y KT ANG P M10X1.25X35 oT
7 8935-058-026-0 SPYTY %

8 0672-630-011-0 Yook =W M12/L)

9 0672-630-012-0 oyt =IM12)

10 0672-630-013-0 FI99°Byh (120/M12)

—_ -
w N =

0672-630-014-0
V330-260-012-0
0672-630-015-0

FyMM12X1.25)L
TUMGEIA)
UtryMM12X1.25)

M12X1.25

-32-

AN N NDNDNDN



5. BVERAR (ED6)RATTY

6

1

3
4
2
7B Eamad—k ST EE D0 E % g % /NFE B

1 0677-630-400-0 STY%¥7MN)COMP 1
2 0670-631-011-0 iR IWMM6X30) 1
3 0612-732-012-0 UtyMMme) 1
4 V411-260-006-0 ELWIEd 6 2
5 0674-630-500-0 ATTYYT KAI(U)ASSY 1
6 0677-630-012-0 N 47709 Utyb M10X1.25 1

-33-



5. 2/ER8ZR (FD7) ARyMLLN -

—_ - -
HOLODN

0671-650-011-0
0671-640-012-0

=7 I(Fa—YFS)
#3'F1—-7°(11X330)

-34-

—_ = =

75 B dma—Fk BB R Fh Bk g % /NFEE i
1 0671-640-200-0 :28 AOYhLHLCOMP 1
2 V201-261-006-5 my A M10X65 1
3 3911-550-015-0 #3313 (10) 1
4 4210-320-203-0 AFAMIYR(1X11X20) 2
5 8935-058-026-0 SPOTh # 1
6 0412-204-004-0 Uykm10) 1
7 0672-642-210-0 ADYMLLA'—(110)COMP 1
8 V200-460-603-5 A M6X35 1 9T
9 V411-260-006-0 NN A 6 1
10 0612-732-012-0 UtyMMme6) 1
11 0671-640-011-1 =7 IWARYMLFS)
3640-585-001-0 —3')({1r-)



5. BERAR (£ D8) YUk vIA

7B Eagma—k R a4 Fh E % g % /NFEE
1 0677-660-200-0 :55 Y947 L—FCOMP 1
2 0772-530-012-0 F7RA3%Y°(M8X20) 4
3 0677-660-210-0 h)ahYxt4oE"YCOMP 1
4 0612-232-014-0 77" K IWMM6X25) M6X25 1
5 V301-260-006-0 F9b 291 M6 1
6 V362-260-008-0 INAYIN RYFFYE 11 M8 1
7 1111-650-012-0 wy 3v2(90) 1
8 0612-732-012-0 UtyhMMe) 1
9 P115-630-013-0 F7A32°(M6X16) 1
10 0677-660-011-1 :55 Y44 Fhn'— 1
11 0771-441-013-0 P3R4 (M6X14) 3
12 0677-660-012-0 AR YUY (5X25X15) 1

-35-



5. ¥{ERBRZR (FDI) Fvy LN -

75 Eagma—k R am % Fh E % g % /NFEEA
1 0677-671-200-0 :28 FIv¥'LiN—YTYCOMP 1

2 V411-260-012-0 eI 12 2

3 V704-140-012-0 CH'ab A7) 12 2

4 0677-671-210-0 F1vY LN —(N)COMP 1

5 0677-671-011-1 A7 (HT025) 1

6 0673-760-011-0 YTUEU(12X49) 1

7 2150-811-002-0 g097° (=) 1

8 0677-670-011-0 =7 W(F1vy) 1

9 8935-009-013-0 4% 7V93A9AT7-tY 2

10 V411-260-006-0 LIRS 6 2

11 0677-670-230-0 :28 F1vy 5—7 LA’ —ACOMP 1

12 V231-360-802-0 7799w b M8X20 3 7T

-36-



5. EERE®R(FD10)LN—T 7099

75 Ema—k B a4 E % g % /NFEEE i
1 0677-680-011-0:28 F'7A949Ln"— 1
2 3911-530-017-0 A7Y9°(HC032) 1
3 V411-260-012-0 IES S 12 1
4 V704-140-012-0 CH 8k A9 ) 12 1
5 3680-214-004-0 41)97°(04X12X50) 1
6 0671-680-011-0 =7 (T 7099) 1
7 8935-009-013-0 D4¥7993A9AT-tY 1
8 3789-151-006-0 w07 1
9 V500-162-001-5 ey 2X15 1

-37-



6. MERZEERER(ZD1)T UM

qE Hma—k i E<E a0 B & = /NSEEE i
1 0670-710-200-0 :28 7°—!)(VC275.5)COMP 1

2 0670-710-031-0 7y54%(12.5X34X4.5) 1

3 V401-160-012-0 SW 12 3

4 0670-710-018-0 # IWMM12X30/M6) 1

5 V767-400-000-0 JYAZYT W A-M6F 1

6 0672-718-011-0 N'347°Y%7M980/hy4-) 1

7 0670-710-041-0 R.B.B(6007/DU) 6007DU 2

8 0670-710-012-0 Hh2(41X62) 1

9 V705-140-062-0 CHabAITT) 62 4

10 V742-135-620-6 Tl V(35626 1

11 V744-140-621-1 Tyl TC406211 1

12 0674-710-250-0 : 28 +>%'3%hy7 COMP 1

13 0670-710-013-0 : 28 hy4—A"—R 1

14 0670-710-014-0 :28 Hn'—(h)N'AHI) 1

15 V401-160-020-0 SW 20 1

16 V340-160-020-0 750Fyh M20X1.5 1

17 V203-461-203-0 IR AGREY A) M12X1.25X30 2 9T

-38-



6. MEREERFER(ZD2) T UM2

s Eama—k K B %k g /NSE i {ifh
1 0670-710-015-0 VA'ILMB-76)W800 1
2 0677-710-200-0 :28 h)ny79F7oY3av7—LCOMP 1
3 0677-510-012-0  AFYUY(K=N/379%) 1
4 0677-510-013-0 s RIRLLIS Y 2
5 V411-260-014-0  IN'¥4'4'% 14 1
6 V704-140-015-0 Ch b A9 ) 15 1
7 0670-710-016-0 :28 A—7(45X48) 1
8 V600-150-620-2 RB.B 6202DDU 2
9 V705-140-035-0 ChabAI(TT) 35 1
10 V742-117-350-5 HLo-I VC17355 1
11 V704-140-015-0 Ch 4k A9 ™Y) 15 1
12 0670-710-021-0 T LY H #(20X58X3) 1
13 V704-140-020-0 CHaMIC ™)) 20 1
14 0670-710-017-0 :28 7°L—MA"WRAMYA'/F) 1
15 0670-710-230-0 :28 A"JLFAFYN'(R)YCOMP 1
16 0670-710-240-0 :28 A’ JLFAMyA(L)YCOMP 1
17 V211-360-802-0 N4 WMSP) M8X20 3
18 V362-260-008-0 INGYINFYEFIR 171 M8 1

-39-



6. MEREEFER(ZDI) I L%

s E&ma—F BB A R EE i = /NST B i
1 0677-720-210-0 :28 hy4—7L—%YTYCOMP 1

2 V211-360-802-0 N 4K IVMSP) M8X20 2

3 0677-720-011-0 :28 7°L—%7—A 1

4 0675-722-011-0 7'b=%Y1—-(hy4—/EU) 1

5 0670-720-011-0 A9hIT 9% ILMM3X20) 2

6 V360-260-003-0 B3N 29%F9MM3) M3 2 4T
7 V411-260-003-0 R 3 2

8 0670-730-011-0 +4727—-(R792C) 1

9 0670-730-012-0 47 2

10 0670-730-013-0 FATRAR IR 2

11 0670-730-014-0 h7—(14X21X7) 2

12 0670-730-015-0 :28 Fyki'—} 2

13 0670-730-016-0 n=rnyyFymM14) 2

-40-



6. MEEER &R (ZD4)In-1(1/2)

23
16 2 24
N v 18

5

57 21

f7E H&mad—Fk BB A R EE iE & /NTE B
1 0677-740-200-0 :28 Hy4—hn"—(957)COMP 1
2 0675-740-016-0 FChN—T'L 1
3 0675-740-017-0 :28 FCHN—T AAHI(L) 1
4 0675-740-018-0 :28 FCHN—T AAHI(R) 1
5 1122-725-012-0 UtykMm8) 6
6 0677-740-230-0 :28 #4+Hn"—957(L)COMP 1
7 V411-260-010-0 HIES IR 10 4
8 0412-204-004-0 UtvyMM10) 2
9 8935-042-034-0 DYhnN-h4A{SP 2
10 0677-740-240-0 :28 #4+Hn"—957(R)COMP 1
11 0677-740-260-0  #yF+¥)LN—(957)COMP 1
12 0674-744-012-0 A74 (HC065) 1
13 0677-740-013-0 h5—HF AN =9T7Y) 1
14 0339-181-391-0 770Y K ILFM8X16-6.8 1
15 V231-360-803-5 770 Kbk M8X35 1 7T
16 0677-740-011-0 :28 #Ahn'—=7v4(0v%) 1
17 0677-740-012-0 :28 H4NHN=799(9+%") 1
18 V211-360-802-0 N4 WMSP) M8X20 2
19 V362-260-008-0 INRYINRYFFUE 171 M8 2
20 V411-260-008-0 RS 8 1

-41-



6. MERERRFR (ZD4)hn-1(2/2)

s H&mad—Fk R K] EE i /N5E B il
21 0677-740-015-0 RRAE"U(8) 1

22 3731-551-008-0 Y4919 h % 1

23 V401-160-008-0 SwW 8 1

24 0670-740-013-0 Y AU ILIM8X20) 1

25 0674-744-011-0 #4131 L955(RR) 1

26 0671-742-014-0 :28 #4} 31 L% 1885(RR) 1

27 V231-360-802-0 779 K Wb M8X20 2 7T
28 1122-725-012-0 UtyMMm8) 2

29 0677-740-300-0 :28 Y¥Hhn'—(957)COMP 1

30 0677-740-014-0 DR WA 1

31 0675-740-022-0 :28 YT LAHI 1

32 1122-725-012-0 UtyMMm8) 3

33 V362-260-008-0 INAYIN FYETIE 191 M8 4

34 0660-760-031-0 H391°(9) 1

-42-



6. X EREE R R (ZD5)hn—2(0PT)

FE Ema—k

iR K] EE i /NST B i
1 0677-741-300-1 NMYa9h b (95)SET 1 OPT
2 0677-741-270-0 :28 N{Y1YH 4} (957)COMP 1
3 V201-260-802-5 my T A M8X25 4
4 V304-260-008-0 INaFYk 291 M8 4
5 0677-620-011-0 N 4770 Utyb M8 2
6 0677-741-201-0 VL EBUELMZICL) 1

SHFIE. FB2~625T,

-43-



6. XMERZEERE R (ZDT)Yaa)))F1

1

\(Q - BN 10

s H&mad—F K] EE iE & /NSE B i
1 0677-750-210-0 :28 7—L(hY4h¥700+/L)COMP 1
2 0677-750-220-0 :28 7—L(h)4h%70+/R)ICOMP 1
3 0677-750-200-0 7—LH')8hH¥N/FR)ICOMP 2
4 0677-750-011-0 7V v AMyMM16EY9) 2
5 V330-260-016-0 FYMEYA) M16X1.5 2
6 0670-750-013-0 FyMEFM16X1.5) 2
7 0670-750-016-0 #I31 R(2H) 4
8 0670-751-230-0 :28 7—L(h')4h% /)% /LA)COMP 1
9 0670-751-240-0 :28 7—L(h")4h% /)% /RA)COMP 1
10 0670-750-011-0 FILMM10/16X83) 4
11 V411-260-010-0 HIES IR 10 8
12 0412-204-004-0 UtryMM10) 8
13 V767-400-000-0 JTVRZI7 W A-M6F 8

_44_



6. MENZEE R R(EDS)Ya)a7)Y)F2

qE Ema—k BB Bk B & INFEE
1 0677-750-300-1 :28 HY4h¥Hh 9 4957COMP 1

2 0677-750-012-0 :28 hYanHs HM)vEAT— 1

3 V211-360-802-0 IN 4K IWMSP) M8X20 2

4 0677-750-013-1 YT IF1I-4 1

5 V211-360-802-0 IN° 4R IWMSP) M8X20 1

6 0674-750-011-0 :28 ¥ a{ub7°L—b 2

7 0670-750-014-0 A7V (HE125) 2

8 0672-757-012-0 #h R(16X28X2) 4

9 V704-140-015-0 CH 49 ) 15 4

10 0670-750-300-0 7')-094ASSY 1

11 V201-460-803-5 i A M8X35 1 9T
12 V304-260-008-0 N ek 291 M8 2

13 V710-140-006-0 EN4r AT 6 1

14 8935-001-062-0 MY H % 2

—-45-



6. XMEVEERR (ZD)I79FLin -
D
/

FE Ema—k BB R B g & /NFEEE i

1 0677-760-200-1 :28 LnN'—(959F)957COMP 1

2 0670-761-011-1 LiN==2"(5")=) 1

3 V411-260-012-0 EL WIS 12 1

4 V704-140-012-0 CH ab A7) 12 1

5 0671-760-012-0 =7 W979F/h95-) 1

6 V410-260-008-0 N h % 8 1

7 V500-162-501-5 ey 2.5X15 2

8 0450-501-012-0 nU4793USP 1

9 8935-004-032-0 FEYNRT YUY 1

10 0670-760-013-0 =7V V—%/hv4-) 1

11 1122-231-019-0 A7 (HC103) 1

12 8935-009-013-0 4% 7993A9AT-E"Y 1

13 V411-260-006-0 INXYH A 6 1

-46-



6. MEZEEFEREDI0)Y 395 Lin—

\\\\\

0677-770-013-0

=7 11(7')-09%)957

FE H@mad—F BB R EE g /NFEEE i
1 0677-770-210-0 :28 h'J3h#Ln"—COMP 1
2 0675-772-011-0 S97°(13/Y) 1
3 V201-261-007-5 IR 4R b M10X75 1
4 V303-260-010-0 a4+ M10 2
5 0677-770-012-0 A7UY (HT023) 1
6 0677-770-220-1 :28 h')4hH¥Ln'—YTYCOMP 1
7 0672-755-014-0 N 2(12) 1
8 V704-140-012-0 CH 4 )) 12 1
9 0677-770-011-0 :28 ¥ 34U+’ L—rEY4HY) 1
10 V411-260-008-0 WA N2 8 2
V500-162-501-5 ey 2.5X15 2
1
1

—_ - -
w N =

3917-616-025-1

Hh7—(10X15X11)

-47-



6. MEREERFREDIDNINEYY Y
"E EHma—Fk BB & % 5 B %k & /NFEEE i
1 0671-780-200-0 YU 47(W)COMP 1
2 0674-780-011-0 Y34 b k—A(450) 1
3 0384-111-012-0 HF—=AN YN 2
4 3536-142-006-1 D4Y-brhty 1

-48-



7. o—bH\—BER (FD1) ATY7

75 HHmI—Fk BB T Bk g % /NFEE
1 0677-810-200-0 :55 2797°COMP 1
2 0772-530-012-0 F523%Y(M8X20) 5
3 V362-260-008-0 INEYINRYFFYE 11 M8 7
4 4175-102-003-0 )7 WM(M6) 2
5 V201-260-803-5 Y TN M8X35 2
6 V304-260-008-0 Insub 291 M8 1
7 0677-810-011-0 ATy7¥yhZAEVM/L) 1
8 0677-810-012-0 AT97"¥yN70UM/R) 1
9 0677-810-013-0 ATY7 M) 1
10 0671-810-014-0 F497°(27.2X1.9) 1
11 0677-821-200-0 : 14 A{yFN #,(9520)COMP 1
12 0771-441-013-0 F5R2%Y(MEX14) 2
13 0677-820-011-0 70vMIN - 1
14 0675-820-013-0 VEVAOLY) 1
15 V111-164-001-0 73RN IR M4X10 1
16 V411-260-004-0 eI 4 1
17 0675-820-012-0 UtyMm4) M4 1

_49_



1. = AN—BFR(ED2) AN -IL-4

-50-

T Eama—k B a4 Fh B g = /NFEEE i
1 0677-830-200-2 :14 hHinN'—7L—L957COMP 1
2 V411-260-010-0 e 10 2
3 0412-204-004-0 UtvyMM10) 1
4 1122-735-011-0 /7" K IWMM8X20) 1
5 0677-830-310-0 : 14 #4/Fhn'—(L)COMP 1
6 0677-830-320-0 : 14 #4{Fhn'—(R)ICOMP 1
7 1111-650-012-0 #3Y072(90) 4
8 V401-170-006-0 S.wW 6 4
9 0770-510-017-0 790+YMM6)7n 4
10 0771-441-013-0 F7A32 (MEX14) 4
11 0677-830-013-0 M) L(220) 4
12 3911-550-015-0 $I31'2(10) 1



e E&mI—k #R i B BE Ik & & /NS B fif

1 0677-830-300-0 :55 IvY vAN'—COMP 1
2 3913-523-012-0 BAAR ILMMBEX12(AY 1Y) M6X12 4
3 0677-830-011-0 P24 (M8X12) 1
4 V362-260-008-0 INAFIN RYEFYE 191 M8 1
5 0677-830-012-0 M) L(490) 1
6 0677-830-350-0 :14 19%H 4} (957)COMP 1
7 3789-151-006-0 2= LIV 2

-51-



7. —b-HAN—FF&R (D4 y—tn-

f"E Eama—Fk BB & % E %k g % /NFEEE i
1 0677-840-011-0 : 14 Y—F7U4 —hn'— 1
2 4175-102-003-0 J7"K WA (M6) 1
3 0677-850-200-0 :55 Y¥71,4°(L)COMP 1
4 0339-181-391-0 7599 K IV AM8X16-6.8 11
5 V362-260-008-0 INEYINRYEFYL 11 M8 1
6 0670-850-012-0 :55 Y¥71V%°(R) 1
7 0677-850-011-0 : 14 NM¥NATHN - 1
8 V401-160-006-0 SW 6 2
9 V371-160-006-0 F3A9FYk 291 M6 2
10 0677-860-200-0 : 14 70Yr YN (N)COMP 1
11 0677-860-250-0 :28 ¥ U1’ (N)COMP 1
12 1394-740-013-0 -4ty 2
13 1305-241-001-0 RANAIAT-EY 2
14 0432-502-011-0 979FTUEY 1
15 0661-173-013-0 7954 (12X40X03) 1
16 7957-501-004-0 AYEV(100) 1

-52—-



7. —b-H/\—B1% (FD5) VM

-53-

Skl Hmad—k =K B B & /N5E A
1 0671-873-300-2 =X /DN A)ASSY 1
2 0671-873-210-1 Y—MTUH)ASSY 1
3 0671-873-018-0 AT—(Y—}/885) 2
4 0671-873-012-0 B YER WIEY AM10) M10X1.25X20 8
5 0671-873-013-1:28 tv¥ ' (¥—h) 1
6 0671-873-014-0:14 H'4F(—b/L) 1
7 0671-873-015-0 :14 #'4F(—+/R) 1
8 V211-360-801-6 04k LMSP) M8X16 6
9 0677-870-200-1 :28 Y—FA"—A(Fyn'/C)COMP 1
10 V201-261-203-5 mp T A M12X35 2
11 V411-260-012-0 E I 12 4
12 V304-260-012-0 In 4k 291 M12 4
13 0675-870-011-0 A7) (HC045) 1
14 0677-870-300-1 :28 Y—fA'—Z(A7)C COMP 1
15 0670-870-013-0 17" +9MM8) 2
16 3731-551-008-0 Fy-tH1th’ s 2
17 0670-870-400-1 :28 Ln'—(¥—FA34F)COMP 1
18 3659-203-005-0 51)97°(03X17X74) 1
19 V411-260-006-0 HIES IR 6 2
20 V500-162-001-5 ey 2X15 2
21 0670-870-014-0 A4 BysSP 1
22 0670-870-420-2 49t »(16)COMP 1



7. O—b-HN\—B&R (ZD6) y—12

SHE1. 20X T, FHSINRE,

-54-

s H@mad—F K] EE B & /NST B i
1 0677-870-430-0 :28 ¥—F7—L(L/957)COMP 1

2 0677-870-530-0 :28 ¥—F+7—L(R/957)COMP 1

3 1394-221-202-0 7°1(12X14X15) 8

4 0670-870-015-0 h7—(8X12X46) 4

5 V201-360-806-5 IN4RIE M8X65 2 7T

6 V411-260-008-0 HIES IR 8 4

7 3731-551-008-0 Y4919 h% 4

8 0677-620-011-0 N 4770 UFyb M8 4

9 0677-871-011-0 Ay93Ih 4k ILIMBX65 2



8. INILEFZR(ZD1)1/2

AN

17 29

34

NyTUF Y IERHEDSRS

24

7E Eema—Fk BB AR FR Bk B & INSEE
1 0677-913-013-0 %Y17-%(9520A) 1
2 0677-910-012-1 Y=H(AU7+VA957) 1
3 0677-910-013-0 A=Y AL 1
4 0677-910-014-0 AYN=HINED)R 1
5 0677-913-011-1 Ay =9()%/L)9520AB 1
6 0677-913-012-1 Awhv=4(1)%/R)9520AB 1
7 0677-913-014-0 N#ILI—5(9520A) 1
8 0677-910-018-0 Yv=9( 4+ /957) 1
9 0677-910-019-0 ¥=4(3'70y4/957) 1
10 0677-910-021-0 Y9Y¥I—9(HST/957) 1
11 0670-910-028-0 =9(—bA74}) 1
12 0673-913-032-0 NN WI=H(ATEX) 1
13 0673-913-027-0 T=H(FTy9A/41X120/RR) 1
14 0672-925-013-0 hntyanI-h 1
15 0675-910-022-1 YUK WI—9(ATEX) 1
16 0671-918-016-0 T=hERTY-)) 2
17 0674-913-023-0 INWETU/HNA 1
18 0670-910-034-0 INWETU/ NN 1
19 0670-910-035-0 FNWETY/ DN =) 2
20 0670-910-036-0 INLETU/HEF) 1

-55-



8. INILBER R (ZMD1)2/2

17 29

N7

30

5 &&a—k 0 i A 5 B iE #& 1INST B fif

21 0670-910-038-0 IN 439 /ERN =) 1
22 0674-912-015-0 INW(Fa4/MWT7Ih4/S) 1
23 0438-910-025-0 INWFIY4/A99%) 1
24 0329-910-033-0 IN V439 /77Y) 1
25 0453-910-026-0 INNETA39 /=) 1

26 0453-910-028-1 IN 439 /9348Y) 1
27 0612-910-025-0 INWAA3 /) 1
28 1675-905-007-0 INNH439/377) 1
29 0329-910-034-0 INWEA39/7=h4TY) 1
30 0674-913-018-0 INWF1Ive7 L—%) 1

31 0453-910-021-0 FNM(Ery/0h4)

32 0453-916-011-0 INWEFY/ AR
33 0674-912-014-0 FNIWEFrY/HSTLN -)S
34 0673-910-021-0 FA N YTY)

35 0679-910-019-0 NYFU—(904)

-56-



9. A7 artybEREDT) F47(V)SET

6
5
4
— 1
qE EHama—k BB Fh Bk B & /N5 Bl
1 0670-983-200-0 +47(V)SET 1 OPT
2 0670-983-011-0 Whyr70Y3NSET 1
3 0670-730-013-0 FATRHE IR 2
4 0670-730-014-0 HF3—(14X21X7) 2
5 0670-730-015-0 ok —F 2
6 0670-730-016-0 n=roysyrM14) 2

SHEE. FE2~6E2T,

-57-



9. A7 a Yy rEIR(ZD2) F4IAT-

f7E EHama—Fk BB & % 5 Bk g % /NFE B
1 0670-985-200-0 SR FAIAT— 1 OPT

2 0670-731-011-0 477 L—F(T) 1

3 0670-985-201-0 Y=9ENNYF4IAT-) 1

SEE1E. F52.3%5T,

-58-



9. AT avtybBHR(EDL) NUIRTIUYA

=\

DREAM SEAL

e #&a—Fk B i B FF B2 & %= /NS B fifh

1 0670-953-200-0 NUYR IV (SET 1 OPT

-59-



9. A7 ar Yy rBER(ZEMDS) Yri4hn -

s #&a—Fk R 2K ) 2k & & /]N5E E fff

1 0674-930-200-0 YRR =N E) 1 OPT

-60-



9. AT a Yy rBEIR(EDG) Yr84hn—(N)

INTEEA

& %=

2k

i 2 FF

B

og

Ho

iy

1 OPT

Y44 —=(N)

1 0674-931-200-0

-61-



9. A7 arybEIR(ZEDT) TT-+-4

0612-630-011-0
0677-951-201-0

JE*=+44(100)
VP INIPL EBUELYE

>SEFE. FB2~5%58L,

_62_

[y

FE5 Had—Fk EBEm B R B B & /NFEE
0677-951-200-0 77/—4D(B)SET OPT
0677-950-011-0 T—*-4
0677-951-210-0 772—431—-F(D)



9. REPEHR(ZFD1) 7b—FVa—

#s #S&Ea—k R i B FF B2 & & /NS B fifh
1 0674-932-200-0  7'L—#%Y1-SPSET 1 REP

2 0674-111-621-0  7'L—%va- 2

3 0674-111-622-0  Y1-A7YvY’ 1

4 0674-932-300-0  7'L—%Y1—(21)SET 1 REP

5 0674-111-621-0  7'L—%va- 2

SHEE. FFE2.3%258T,
>HEAIX. FESEEDT,

-63-



9. REPREE{R(ZM2) +47SET

©&——15
S &
18
13
&—
"E EHama—Fk BB & % E%k g % /NFEE
1 0670-980-200-0 +47SET 1 REP
2 0670-730-012-0 +47 2
3 0670-730-013-0 FATRAR LR 2
4 0670-730-014-0 h7—(14X21X7) 2
5 0670-730-015-0 :28 +yhh™—F 2
6 0670-730-016-0  A—FOysFyMM14) 2
7 0670-980-300-0 F47H WISET 2 REP
8 0670-730-013-0 FATHE R 2
9 0670-730-014-0 H5—-(14X21X7) 2
10 0670-730-015-0 :28 +yhh™—F 2
11 0670-730-016-0 n—=rnysFyMMmM14) 2
12 0670-980-400-0 F47+K WASET 1 REP
13 0670-730-012-0 +47 2
14 0670-730-013-0 FATR AR IR 2
15 0670-730-014-0 H7—-(14X21X7) 2
16 0670-730-016-0 nN=rnysyrM14) 2
17 0670-980-500-0 +47(50)SET 1 +475094{DSET
18 0670-730-012-0 +47 50

SFB1E., fFB2~62EL,
>HETX. FE8~11EED,

>FHE12. FFH13~16% 5T,

SHE1TIX. FE18FET,

-64-



10. Bk

s H&mad—Fk BB R A Fh Bk B = /N B i
1 0677-943-011-2 M7Yh4tY A Y3(AB) 1
2 0771-960-011-0 74390¥h—-+ 1
3 0772-950-015-3 IVEDVEC W = bVED) 1
4 0677-940-200-1 NG (=) 1
5 0672-989-200-0 :28 Y—JL(+47N)COMP 1

-65-



1. Y—EXREBER(ZEDN)ELEFEE M

s H@ma—F BB R A Fh Bk B = /NST B (iR
1 0670-730-011-0 T47A7—-(R792C) 1 P40

2 0670-980-200-0 F47SET 1 P64

3 0670-980-300-0 F47H WSET 1 P64

4 11013-7046 7H=LIL At 1 WEeRES
5 11013-0752 AN=NILAVb 1 WY RES
6 49065-7007 A4 3— 1 WAERES
7 92070-7004 AN=97°3Y BPR4ES 2 WYIRERES
8 49019-0027 BRE 745~ 1 IR RES
9 0670-710-015-0 VA LMB-76)W800 SB76 W800 1 P39

10 0670-510-012-0 VA'ILMB-32)W800 SB32 W800 1 P27

11 0453-455-011-2 NyTY34A(G) 34A-19R 1 P24

12 0677-420-012-0 #Ya7—A(230) 1 P22

13 0324-442-015-0 #21)37ik—A(6X630) 1 P22

14 0674-111-600-0 7' L—%(81)NASSY 1 P6

15 0674-320-210-0 "VIJUN(R)ASSY 3.50-7-4PR 1 P16

16 0674-320-200-0 #"VIJUN(L)ASSY 3.50-7-4PR 1 P16

17 0674-340-210-0 a17JUN(R)ASSY 16X7.00-8-4PR 1 P17

18 0674-340-200-0 a7YUN(L)ASSY 16X7.00-8-4PR 1 P17

19 0674-320-201-0 44¥N(3.50-7-4PR) 2 P16

20 0674-340-201-0 44%N(16X7.00-8) 2 P17

21 0674-320-202-0 F1—7'N(3.50-7) 2 P16

22 0674-340-202-0 F1—7'N(16X7.00-8) 2 P17

23 0671-640-011-0 F=7" W AOYMLFS) 1 P34

24 0671-650-011-0 =7 W (F3-YFS) 1 P34

25 0672-621-011-0 h=7 T V—%)F 1 P31

26 0677-670-011-0 =7 WFzoY) 1 P36

27 0671-680-011-0  #=7'M(F'7Av%) 1 P37

28 0671-760-012-0 =7 WH979F/hv4-) 1 P46

29 0670-760-013-0 =7 M7 L—%/hv5-) 1 P46

30 0677-770-013-0 r=7"1(7')—Ay%)957 1 P47

31 0674-956-280-0 =7 Wb =/7"b—%) 1 P30

32 0674-956-290-0 k—=7" I (HST/F/953) 1 P30

33 0674-956-300-0 k=7"IL(HST/R/953) 1 P30

34 0677-310-011-0 70Uk L(719) 1 P15

35 0670-310-011-0 70UM4% 3" 4 2 P13

36 0670-310-012-0 AILN-Th 2 P13

37 0675-740-016-0 FChN—T' L 1 P41

38 0674-744-011-0 #411°L955(RR) 1 P42

39 0677-740-014-0 DR WA 1 P42

40 0674-932-200-0 7' L—%1-SPSET 1 P63

41 0674-932-300-0 7' L—%Y1—(27)SET 1 P63

-66—-



1. Y—ERXRER(ZD2)RA7V—%EH

RTV—(BE4S)

ATL=(T' 79930397 H) A7 L—=Ub—=Y"1byh)
5 H&ma—F BB & % 5 B g & /NFEEE i
1 1300-977-002-0 ATL-(BE4T) 1 BE48
2 1300-977-001-0 A7V=(7' 799350 9%A) 1 739939 9vE
3 0776-771-011-0 A7 L=Ub=Y"1byk) 1 b=Yabyh

-67-



1. S —EXER(ZENIEHRE

Ea—RARyo R
1€l %
O | m— o )
2;9L/4F M A IFE IVOVRA Y FERE JIyrRAYTF
5A
3500 s Ak E 18 [T |ow]1G
(108) e % 3 14 16 s
4% aLh— 7 B8
(20A) rkf¥ = g | 0o+0O
- . A o
4 b1 —R
(3A) i e oo
2 = L
i< < S>>
LED7’f ~ All 5.1__ 5.]__5 ’/
N DI i
I‘ D
E
) N o R
g =t ”
[t7vay A BMIET £V L 1SS

794 oot} ' —
. C)EX:F_—i_l i.__Jx_J

L B EMET 550 LI

777\

Hl

\

N
g
=
|

|

I

|m

|

|
-
£ o

|

|

|

NS

A =yvavaqi
e

U
U

o o

L/ A KSwW ,
7 e\ I ”
£EA( I ' 5!
3

MEET v D B E T

-68-



| -

B OR XJh

H

okk

B H € Pr

ol E

oM E AT

T IV

ENSZRBEL. REAHET D

RIS 7TV IA

FpEmumAL 1 TH2 -5
T E L (089)924-7161 (fX)
T E L (089)924-7162 (% ¥4 1)
ATREERIG D HE2E 1 — 1 4
T E L (0198)29-6322 (fX)
RIS S AR AR HT L2 6 6 3 3
T E L (0280)84-4231 (fX)
I B KIETAS S5 THL 28
T E L (0584)89-8141 (fX)
EIRBEMILTAILLITH2 -5
T E L (089)924-7162 ({X)
REAR g AR 2G B BT KRR K 1 1566 —1 7
T E L (096)292-3076 (fX)
IR RAN LT ARET 8 9 9 — 6
T E L (089)979-5910 (fX)

T 791-8524

F A X (089)925-0771

T 025-0301

F A X (0198)29-6323

T 306-0313

F A X (0280) 84-4233

T 503-0931

F A X (0584)89-8155

T 791-8524

F A X (089)925-0771

T 869-1102

F A X (096)292-3423

T 799-2655

F A X (089)979-5950



